Automotive Technology 6th Edition
Quiz 135A

Name

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) A scan tool can be used to . 1)
A) check for stored diagnostic trouble codes
B) command a shift
C) check for transmission-related sensor information
D) all of the above

2) When transmission fluid temperature begins to rise above a preset limit, the TCC . 2)
A) is engaged
B) helps reduce internal temperatures
C) is disengaged
D) Both A and B are correct

3) An electronically shifted overdrive automatic transmission is equipped with a transmission fluid  3)
temperature sensor. Technician A says that the shifts may be changed if the fluid temperature is
too high. Technician B says that overdrive may be disabled if the transmission fluid temperature
is too high. Which technician is correct?
A) Technician A only
B) Technician B only
C) Both technicians
D) Neither technician

4) Some transmissions do not have a dipstick to check the fluid level. 4)
A) True
B) False

5) An electronically controlled transmission was tested using a pressure gauge and the pressures 5)

were below specifications. Technician A says that a defective torque converter is the likely cause.
Technician B says that a defective shift solenoid could be the cause. Which technician is correct?
A) Technician A only
B) Technician B only
C) Both technicians
D) Neither technician

6) When changing an automatic transmission filter always install an extra O-ring. 6)
A) True
B) False



7) An electronically shifted automatic transmission operates okay in reverse, but the vehicle does
not shift at all when moving forward. Technician A says that a defective torque converter is the

likely cause. Technician B says that a defective shift solenoid could be the cause. Which
technician is correct?

A) Technician A only
B) Technician B only
C) Both technicians

D) Neither technician

7)

8) What is the technician doing in this illustration? 8)

A) Installing a pressure gauge

B) Adjusting a band

C) Preparing to fill the transmission

D) Checking the transmission fluid level

9) Two technicians are discussing an automatic transmission that does not move in drive or
reverse. Technician A says that a defective PCM or TCM could be the cause. Technician B says

that a defective or worn pump could be the cause. Which technician is correct?
A) Technician A only

B) Technician B only
C) Both technicians
D) Neither technician

9)

10) A vehicle is being tested using a scan tool. Technician A says that the throttle position (TP)
sensor should read between 0 and 1 volt. Technician B says that a factory or factory level scan

tool is needed to check for proper voltage and current of the shift solenoids. Which technician is
correct?

A) Technician A only
B) Technician B only
C) Both technicians

D) Neither technician

10)



Answer Key
Testname: AT6 135A

1)D
Page Ref: 1713
2)D
Page Ref: 1717
3)C
Page Ref: 1717
4) A
Page Ref: 1712
5)D
Page Ref: 1718
6)B
Page Ref: 1720
7)B
Page Ref: 1713
8)B
Page Ref: 1721
9)B
Page Ref: 1712
10) B
Page Ref: 1713



